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Answer all the questions from each UNIT (5X14=70M)

Q.No. | Questions | Marks | CO | KL
UNIT-I
—kin—m<x<o
L |a ) ={ .
) Find the Fourier series of kin0<x<m [7M] 1
b) | f(x) :{ —kin—mw<x <oz sin ax in -1<x<lL. [TM] 1
kin0<x<m
OR
2. | a) | Find the Fourier Series of f(x) =X — X~ X — X" jp -n<x<nu. [TM] | 1
b) | Find the half range cosine series of f(x) = xSinx in 0<x<mx. [7TM] 1
UNIT-II
3. | a) | If F(p) is the complex Fourier transform of f(x), then the complex Fourier [7TM] 2
. .1
cansform Off(x)smax is — [Flp+a) —F(p—a)l 1
: .1 — ™ 2
b) | f(x)sinax is E[F(p +a)—F(p— a)]leﬁnedbyf(x} = 152 [7M]
fC) =5z
14x2 O|R|
1, x| <a 1
4. | a) f(x) = { ’ f(x) = { M] | 2
Find the Fourier Transform of 0, x| >a 0 [7M]
too i
Crc=51np d and J mSlnapCospxdp.
and hence evaluate p - p
Jﬂm Sinp d and j+m Sin ap Cos px_ﬂx =
e e
b) | Find the Fourier sine ransform of = % s [7M] | 2
UNIT-IIT
5. Solve the difference equation yui + 6yni + 9y, =2"withyo=0,y, =0 [14M] | 3
V,.,t6y ., +9u,=2"withy,=0,y, =0
OR
6. | a) | Find the z transform of €' sin 2t. [7TM] 3
b) U 2z° +JZ+14U _ 2z +5z+14 [7M] 3
(2) = -1 (2) = (z-1)*  then evaluate u, and us.
UNIT-1V
N y2 2 xy
7. | a) u=— VES [TM] | 4
Prove that Xty X *+Y"  are functionally dependent and find
the relation between them.
b) | Expand the function €*sin y in powers of x and y upto terms of 3™ degree. [TM] 4
OR
8. —p) ™ 4
2) Expand f(X:Y)—e -log(l"'x) in powers of x and v. [TM]
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b) | Find the maximum value of u = x’y’z* if 2x+3y+4z=a. [7TM]
UNIT-V

9. | a) | Form the PDE by eliminating f'and g from z = f{(y) + g(x + ) [TM]
b) | Solve the partial differential equation[:mz —ny)p+ (nx —lz)g = ly—mx [7M]

(mz—ny)p+(nx—lz)Jg= ly—mx QR
10. 3 3 14M
Solve 9 2—2 azz =2e”+3x’y [14M]

ox 0x“dv
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